Multiply by 10 (A)

Find each product.

6,4816 X 10 = 458 x 10 =
8,338 X 10 = 4,829 X 10 =
4,76 X 10 = 574 x10 =
2,65 x10= 6,283 X 10 =
2,8x10 = 6,1486 X 10 =
5,8828 x 10 = 2,5%x10=
2,3799 x 10 = 9,2132 x 10 =
6,345 x 10 = 8,4497 x 10 =
4,6745 x 10 = 8,04 X 10 =
519 x 10 = 52x10=
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Multiply by 10 (A) Answers

6,4816 X 10 = 64,816

8,338 x 10 = 83,38

4,76 X 10 = 47,6

2,65 x10=26,5

2,8 x 10 =28

5,8828 x 10 = 58,828

2,3799 x 10 = 23,799

6,345 X 10 = 63,45

46745 x 10 = 46,745

519 x10=51,9

Find each product.

4,58 x 10 = 45,8

4,829 x 10 = 48,29

574 x10=57,4

6,283 X 10 = 62,83

6,1486 X 10 = 61,486

2,5x10=25

9,2132 X 10 = 92,132

8,4497 x 10 = 84,497

8,04 x 10 =80,4

52x10=52
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Multiply by 10 (B)

Find each product.

2,9%x10= 3,15 x 10 =
0,1 x10= 6,17 X 10 =
6,77 X 10 = 7,0132 X 10 =
9,346 X 10 = 3,449 X 10 =
9,6 Xx 10 = 9,611 X 10 =
0,448 x 10 = 0,0471 x 10 =
2,5834 x 10 = 2,73 x 10 =
3,91 x 10 = 1,9 x10 =
2,5278 x 10 = 2,2049 x 10 =
3,1 Xx10= 9,4 x 10 =
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Multiply by 10 (B) Answers

29 x10=29

0,1x10=1

6,77 X 10 = 67,7

9,346 X 10 = 93,46

9,6 x10=96

0,448 x 10 = 4,48

2,5834 x 10 = 25,834

3,91 x10=39,1

2,5278 x 10 = 25,278

3,1 x10=231

Find each product.

3,15x10=31,5

6,17 x 10 = 61,7

7,0132 x 10 = 70,132

3,449 X 10 = 34,49

9,611 X 10 =96,11

0,0471 x 10 =0,471

2,73 x10=27,3

1,9x10=19

2,2049 x 10 = 22,049

9,4 x 10 =94
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Multiply by 10 (C)

Find each product.

6,305 X 10 = 1,8395 x 10 =
5,3934 X 10 = 4,334 x 10 =
8,95 x 10 = 6,2 X 10 =
0,0741 x 10 = 1,628 X 10 =
8,3391 x 10 = 2,15x 10 =
8,262 X 10 = 2,9 x10=

6,9 X 10 = 7,882 X 10 =
8,2x10= 0,56 x 10 =
3,4x10= 6,944 X 10 =
2,6 Xx10 = 9,725 x 10 =
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Multiply by 10 (C) Answers

6,305 X 10 = 63,05

5,3934 x 10 = 53,934

8,95 x 10 = 89,5

0,0741 x 10 = 0,741

8,3391 X 10 = 83,391

8,262 x 10 =82,62

6,9 X 10 =69

8,2 x 10 =82

3,4x10 =34

2,6 X 10 =26

Find each product.

1,8395 x 10 = 18,395

4,334 x 10 = 43,34

6,2 X 10 =62

1,628 X 10 = 16,28

2,15x10=21,5

2,9 x10=29

7,882 x 10 = 78,82

0,56 X 10 =5,6

6,944 X 10 = 69,44

9,725 x 10 =97,25
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Multiply by 10 (D)

Find each product.

6,2 X 10 = 4,7 X 10 =
6,23 X 10 = 1,003 x 10 =
3,4 %10 = 7,4 x 10 =
0,51 x10= 2,5767 X 10 =
57x%x10= 9,9 X 10 =
2,371 x 10 = 7,3 %X 10 =
0,761 x 10 = 8,19 X 10 =
0,82 x 10 = 8,2759 x 10 =
8,83 X 10 = 4,46 X 10 =
8,2356 x 10 = 7,548 X 10 =
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Multiply by 10 (D) Answers

6,2 X 10 =62

6,23 X 10 = 62,3

3,4x10 =34

0,51 x10=5,1

57 X% 10=57

2,371 x10 = 23,71

0,761 x10=7,61

0,82 x10=8,2

8,83 x 10 = 88,3

8,2356 X 10 = 82,356

Find each product.

4,7 x 10 =47

1,003 x 10 =10,03

7,4x10=74

2,5767 x 10 = 25,767

9,9 x10=99

7,3x10=73

8,19 x 10 =81,9

8,2759 x 10 = 82,759

4,46 X 10 = 44,6

7,548 x 10 = 75,48
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Multiply by 10 (E)

Find each product.

6,2 X 10 = 8,09 x 10 =
6,8141 x 10 = 1,969 x 10 =
9,06 X 10 = 7,02 X 10 =
1,4185 x 10 = 4,62 x 10 =
1,82 x 10 = 3,876 X 10 =
9,3252 x 10 = 0,6072 X 10 =
9,7%x 10 = 0,58 x 10 =
4,007 X 10 = 1,0773 X 10 =
8,01 Xx10 = 6,173 X 10 =
3,53 x10= 55x10=
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Multiply by 10 (E) Answers

6,2 X 10 =62

6,8141 x 10 = 68,141

9,06 Xx 10 =90,6

1,4185 x 10 = 14,185

1,82 x10=18,2

9,3252 X 10 = 93,252

9,7x10 =97

4,007 x 10 = 40,07

8,01 x 10 =80,1

3,53 x 10 =353

Find each product.

8,09 x 10 =80,9

1,969 x 10 = 19,69

7,02 x10=170,2

4,62 X 10 = 46,2

3,876 X 10 = 38,76

0,6072 x 10 =6,072

0,58 x10=5,8

1,0773 x 10 =10,773

6,173 x 10 =61,73

55x%x10=55
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Multiply by 10 (F)

Find each product.

4x10 = 7x10=
5,699 X 10 = 7,87 X 10 =
7,510 = 2,58 X 10 =
2,4%x10 = 9,1 x10=
6,3181 X 10 = 8,627 x 10 =
8,52 X 10 = 2,71 x10 =
7,791 X 10 = 8,8 x 10 =
1,69 x 10 = 2,978 x 10 =
1x10= 6,707 X 10 =
5209 X 10 = 4,503 X 10 =
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Multiply by 10 (F) Answers

4 x10=40

5,699 x 10 = 56,99

7,5%x10=75

2,4 x10 =24

6,3181 X 10 = 63,181

8,52 x 10 =85,2

7,791 x 10 =77,91

1,69 x10=16,9

1x10=10

5,209 x 10 = 52,09

Find each product.

7x10=70

7,87 x 10 =78,7

2,58 x 10 =25,8

9,1 x10=091

8,627 X 10 = 86,27

2,71 x10=27,1

8,8 x 10 =88

2,978 x 10 = 29,78

6,707 x 10 = 67,07

4,503 x 10 = 45,03
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Multiply by 10 (G)

Find each product.

7,3497 X 10 = 0x10=

9,6 X 10 = 8,208 X 10 =
3,289 x 10 = 558 %x 10 =
0,15 x 10 = 1,7 %X 10 =
0,3x10= 0,35 x 10 =
7,2 %10 = 2,19 x10 =
7,4286 X 10 = 8,768 X 10 =
2x10= 2,5084 x 10 =
9,01 x10 = 0,155 x 10 =
6,2 X 10 = 7,4528 X 10 =
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Multiply by 10 (G) Answers

7,3497 x 10 = 73,497

9,6 Xx 10 =96

3,289 x 10 = 32,89

0,15x10=1,5

0,3x10=3

7,2x10=72

7,4286 X 10 = 74,286

2x10=20

9,01 x10=90,1

6,2 X 10 =62

Find each product.

0x10=0

8,208 x 10 =82,08

5,58 x 10 =55,8

1,7x10=17

0,35x10=3,5

2,19 x10=21,9

8,768 x 10 = 87,68

2,5084 x 10 = 25,084

0,155 x 10 = 1,55

7,4528 X 10 = 74,528
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Multiply by 10 (H)

Find each product.

9,39 x 10 = 0,6 X 10 =
2X10 = 1,683 x 10 =
6,72 X 10 = 3,054 X 10 =
1,6 X 10 = 7%x10=
0,4419 x 10 = 6,34 X 10 =
3,72 x 10 = 0,38 x 10 =
4,5677 X 10 = 3,569 X 10 =
1,6 X 10 = 6,176 X 10 =
3,63 x10 = 7,3 x10 =
2,479 X 10 = 8,71 X 10 =
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Multiply by 10 (H) Answers

Find each product.

9,39 x10=93,9 0,6 X10=06
2x10=20 1,683 x 10 = 16,83
6,72 X 10 = 67,2 3,054 x 10 = 30,54
1,6 x10=16 7x10=70
0,4419 X 10 = 4,419 6,34 X 10 = 63,4
3,72 x10=37,2 0,38 x10=3,8
4,5677 X 10 =45,677 3,569 x 10 = 35,69
1,6 x10=16 6,176 X 10 = 61,76
3,63 X 10 =36,3 7,3x10=73
2,479 x 10 = 24,79 8,71 x10=287,1
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Multiply by 10 (I)

Find each product.

3,642 x 10 = 50709 X 10 =
7,9056 X 10 = 6,462 X 10 =
0,884 X 10 = 4,5984 x 10 =
6,65 X 10 = 3,9x10 =

59 %10 = 6,84 X 10 =
45%x10= 0,9x10=
5,6824 x 10 = 1,86 X 10 =
8,29 X 10 = 5011 x10=
9,809 x 10 = 3,29 x 10 =
8,3036 x 10 = 0,94 x 10 =
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Multiply by 10 (I) Answers

3,642 X 10 = 36,42

7,9056 x 10 = 79,056

0,884 x 10 = 8,84

6,65 X 10 = 66,5

59x10=59

4,5%x 10 =145

5,6824 x 10 = 56,824

8,29 x 10 = 82,9

9,809 x 10 = 98,09

8,3036 X 10 = 83,036

Find each product.

5,0709 x 10 = 50,709

6,462 X 10 = 64,62

4,5984 x 10 = 45,984

3,9%x10=39

6,84 X 10 = 68,4

09%x10=9

1,86 x 10 = 18,6

5011 x10=50,11

3,29 x 10 =32,9

094 %x10=9,4
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Multiply by 10 (])

Find each product.

0,401 x 10 = 563 %10 =
2,4417 x 10 = 3,456 X 10 =
3,2X%X10= 2,19 x10 =
53X 10= 0,68 X 10 =
8,2537 X 10 = 1,6554 x 10 =
7,195 x 10 = 7,413 X 10 =
531 x10 = 0,21 x 10 =
9,55 x 10 = 2,779 X 10 =
8,8 X 10 = 3,4x10 =
9,25 x 10 = 6,0327 X 10 =
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Multiply by 10 (J) Answers

0,401 x 10 =4,01

2,4417 X 10 = 24,417

3,2x10=32

53x%10=53

8,2537 x 10 =82,537

7,195 x 10 =71,95

531x10=53,1

9,55 % 10 =95,5

8,8 x10 =388

9,25 x10=92,5

Find each product.

5,63 X 10=156,3

3,456 X 10 = 34,56

2,19 x10=21,9

0,68 x 10 = 6,8

1,6554 x 10 = 16,554

7,413 x 10 =74,13

0,21 x10=2,1

2,779 x 10 = 27,79

3,4x10 =34

6,0327 X 10 = 60,327
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